SAW MOUNTING BRACKET
A18MSB1

For use with RYOBI A18MS01/A18MS01G miter
saw stand

REGISTER YOUR TOOLS
< 1-800-525-2579

A WARNING:

To reduce the risk of injury, do not attempt to use this product until you have read
thoroughly and understand completely this operator’s manual, the operator’s
manual for the miter saw, and the operator’s manual for the RYOBI A18MS01/
A18MS01G miter saw stand. Ensure compatibility and fit before using this
accessory. Do not use this accessory if a part is damaged or missing.

READ ALL INSTRUCTIONS

B KNOW YOUR ACCESSORY. Read the operator’s manual carefully. Learn the
product’s applications and limitations as well as the specific potential hazards
related to this product.

B KEEP THE WORK AREA CLEAN. Cluttered work areas and work benches
invite accidents. DO NOT leave tools or pieces of wood on the saw while
operating.

E DO NOT USE THIS PRODUCT WITH OTHER EQUIPMENT or for other
purposes.

B BEFORE MAKING A CUT, BE SURE ALL ADJUSTMENTS ARE SECURE.

B ALWAYS MOUNT MITER SAW so the workpiece is positioned in line with the
work supports.

E DO NOT APPLY AN UNBALANCED LOAD that could cause the RYOBI
A18MS01/A18MS01G miter saw stand to tip over.

B SAVETHESEINSTRUCTIONS. Refertothemfrequently and usethemtoinstruct
other users. If you loan someone this product, also loan these instructions.

PACKING LIST
See Figure 1.

Saw Mounting Bracket (2), Bolt (5/16-18 x 2 in.) [4], Hex Nut (5/16 in.) [4], Lock
Washer (5/16 in.) [4], Flat Washer (5/16 in.) [4], and Operator’s Manual.

ATTACHING SAW TO THE MOUNTING BRACKETS
See Figures 2 - 3.

Position your saw on the RYOBI A18MS01/A18MS01G miter saw stand to achieve
maximum balance and stability. All four corners of the saw must be bolted to the
saw mounting brackets before use. Make sure bolts do not extend above the table
of the miter saw.

NOTE: Ensure that saw mounting brackets can be clamped securely onto RYOBI
A18MS01/A18MS01G miter saw stand before mounting saw. If locking lever on
saw mounting bracket cannot easily be pushed down into the closed position, the
adjustment screw is too tight. Do not force locking lever into the closed position.
Loosen the adjustment screw. Referto the Mounting Bracket Adjustment section.

If the saw has mounting holes that line up with the slots in the saw mounting
brackets (see figure 2):

NOTE: The holes should align so that the brackets are parallel to each other when
mounted.

B Disconnect the saw from power supply and lock the saw arm in the down
position.

B Place two 2 x 4 or similar type of stable support underneath the saw to raise
the saw and allow access to the saw’s mounting feet.

B Place the saw mounting bracket underneath the raised side of the saw, and
insert bolt through bracket slots and mounting holes in saw.

NOTE: The saw mounting brackets should be placed so that the locking levers
face the front of the saw.

Loosely secure in place using a flat washer, lock washer, and hex nut.
Insert second bolt through bracket and saw, then loosely secure.
Repeat procedure to attach second bracket to saw.

After making sure both brackets are parallel to each other, lightly tighten all four
nuts to hold in position.

If the saw has holes that do not line up with the slots in the saw mounting
brackets (see figure 3):

B Disconnect the saw from power supply and lock saw arm in the down position.

B Mount the saw to a mounting surface at least 1/2 in. thick using bolts, washers,
and nuts (not included).

B Drill holes in the mounting surface to match the position of the slots in the saw
mounting brackets.

B Proceed with installation as previously described.

995000421
2-8-18 (REV:01)

MOUNTING THEMITERSAWTO THE RYOBIA18MS01/A18MS01G

MITER SAW STAND
See Figures 4 - 5.

A WARNING:

Do not mount miter saw to the RYOBI A18MS01/A18MS01G miter saw stand
before ensuring the stand legs are secure. Failure to do so may result in possible
injury and damage the tool.

B Make sure the mounting bracket locking levers are in the unlocked position.

B Lift the saw and bracket assembly, allowing the assembly to tilt slightly toward
your body.

B While still tilted toward you, hook the front edge of the bracket assembly onto
the front rail of the stand.

A WARNING:

To avoid serious personal injury, make sure the curved front edge of the
saw mounting brackets are securely seated onto the front rail of the RYOBI
A18MS01/A18MS01G miter saw stand before seating the other end of the
brackets. Failure to do so could cause you to lose control of the saw and bracket
assembly, which could cause serious personal injury.

A - Saw mounting bracket (support de montage de la scie, apoyo de montaje de la sierra)
B - Locking lever (levier de verrouillage, palanca de fijacion)

C - Hex nut [5/16 in.] (écrou hexagonal [5/16 po], tuerca hexagonal [5/16 pulg.])

D - Lock washer [5/16 in.] (rondelle frein [5/16 po], arandela de fijacion [5/16 pulg.])

E - Flat washer [5/16 in.] (rondelle plate [5/16 in.], arandela plana [5/16 in.])

F - Bolt [5/16-18 x 2 in.] (boulon [5/16-18 x 2 po], perno [5/16-18 x 2 pulg.])

G - Rear clamp (bride arriére, mordaza trasera)

H - Front clamp (bride avant, mordaza delantera)

B Lower the saw and bracket assembly to allow the rear clamps of the brackets
to seat fully over the rear rail.

B |ock the brackets in position by lowering the locking levers.

NOTE: Continue to hold the saw and bracket assembly with one hand until
both levers are securely locked.

B Check position and adjust, if necessary, to make sure the weight of the saw is
evenly balanced over the rails.

B Ensure the saw is fully seated and locked in position, then securely tighten the
four nuts holding the saw to the saw mounting brackets.

A WARNING:

The saw mounting brackets are designed to fit snugly over both rails with
locking levers in the open position. With the locking levers in the lowered
(locked) position, you should not be able to slide the saw mounting bracket
assembly along the rails or remove the bracket assembly from the rails. If the
saw mounting brackets will not fit over both rails, or if the brackets can be
removed from the rails when the levers are locked, remove bracket assembly
immediately and adjust bracket adjustment screw. Refer to the Mounting
Bracket Adjustment section. Failure to heed this warning may result in serious
personal injury.

To remove saw from the RYOBI A18MS01/A18MS01G miter saw stand:
B Raise the locking lever to unlock the saw and mounting bracket assembly.

B Grasp the brackets on either side of the assembly and lift away from the rear
rail to disengage.

B With the assembly tilted slightly toward you, lift the front part of the assembly
to disengage from the front rail of the stand.

MOUNTING BRACKET ADJUSTMENT
See Figure 6.

If the tool and bracket assembly can slide over the rails of the RYOBI A18MS01/
A18MS01G miter saw stand or be removed from the rails when the levers are
locked, the bracket adjustment screws need to be tightened. If the tool and
bracket assembly will not fit over both rails, the bracket adjustment screw needs
to be loosened.

NOTE: The tool should be removed from the mounting brackets before attempting
to tighten or loosen the bracket adjustment screws.

To adjust:
B Make sure the mounting bracket locking lever is in the unlocked position.

B Lift bracket away from the rails of the RYOBI A18MS01/A18MS01G miter saw
stand.

B Use a 10 mm wrench to slightly loosen the nut.

B Turn the screw with a Phillips screwdriver. Rotate clockwise if the bracket
assembly needs to be tightened or counterclockwise if the assembly needs to
be loosened.

B Install the bracket on the front rail then lower bracket to allow the rear clamp
of the bracket to seat fully over the rear rail.

NOTE: The mounting bracket should fit snugly over the rails when in the unlocked
position.

B Lock the bracket in position by lowering the locking lever.

NOTE: If the locking lever on the mounting bracket cannot easily be pushed
down into the closed position, the adjustment screw is too tight. Do not force
locking lever into the closed position. Loosen the adjustment screw.

B When the correct position is achieved, use a Phillips screwdriver to hold the
screw in place and wrench-tighten the nut to secure.

B Repeat with the second mounting bracket.

To purchase additional mounting bracket assemblies (089041017702), call RYOBI
customer service at 1-800-525-2579.

ONE WORLD TECHNOLOGIES, INC.
1428 Pearman Dairy Road, Anderson, SC 29625
1-800-525-2579 / www.ryobitools.com

A - Miter saw (scie a onglets, sierra ingleteadora)

B-2x4(2x4,2x4)

C - Slot (fente, ranura)

D - Bolt [5/16-18 x 2 in.] (boulon [5/16-18 x 2 po], perno [5/16-18 x 2 pulg.])

E - Saw mounting bracket (support de montage de la scie, apoyo de montaje de la sierra)
F - Flat washer [5/16 in.] (rondelle plate [5/16 in.], arandela plana [5/16 in.])

G - Lock washer [5/16 in.] (rondelle frein [5/16 po], arandela de fijacion [5/16 pulg.])

H - Hex nut [5/16 in.] (écrou hexagonal [5/16 po], tuerca hexagonal [5/16 pulg.])

A - Miter saw (scie a onglets, sierra ingleteadora)

B - Stable support (support stable, soporte estable)

C - Slot (fente, ranura)

D - Bolt [5/16-18 x 2 in.] (boulon [5/16-18 x 2 po], perno [5/16-18 x 2 pulg.])

E - Saw mounting bracket (support de montage de la scie, apoyo de montaje de la sierra)
F - Flat washer [5/16 in.] (rondelle plate [5/16 in.], arandela plana [5/16 in.])

G - Lock washer [5/16 in.] (rondelle frein [5/16 po], arandela de fijacion [5/16 pulg.])

H - Hex nut [5/16 in.] (écrou hexagonal [5/16 po], tuerca hexagonal [5/16 pulg.])

| - Hardware not included (quincaillerie pas inclus, estas piezas no vienen incluidas)

A - Saw arm (bras de scie, brazo de la sierra)

B - A18MS01/A18MS01G miter saw stand (A18MS01/A18MS01G stand pour scie a onglets,
A18MS01/A18MS01G pedestal para sierra ingleteadora)

C - Saw mounting bracket (support de montage de la scie, apoyo de montaje de la sierra)

A - Lower locking levers to secure to stand (abaisser les leviers de verrouillage pour assujettir
sur le stand, baje las palancas de aseguramiento para fijar el conjunto en el banco)

A - Saw mounting bracket (support de montage de la scie, apoyo de montaje de la sierra)
B - Wrench (10 mm) [clé (10 mm), llave de tuercas (10 mm)]

C - Screwdriver (tournevis, destornillador)

D - Bracket adjustment screw (vis de réglage de support, tornillo de ajuste del apoyo)

E - Nut (écrou, tuerca)




ENREGISTRER LES OUTILS
< 1-800-525-2579

SUPPORTS DE MONTAGE DE SCIE

A18MSB1

Utiliser seulement avec le A18MS01/A18MS01G
stand pour scie a onglets de RYOBI.

A AVERTISSEMENT :

Afin de réduire le risque de blessures, ne pas tenter d’utiliser ce produit avant
d’avoir bien lu et entiérement compris le présent manuel d’utilisation ainsi que les
manuels d’utilisation sur la scie a onglets et I’établi a scie a onglets A18MS01/
A18MS01G de RYOBI. Assurez-vous de la compatibilité et de I'ajustement
avant d’utiliser cet accessoire. Ne pas utiliser cet accessoire si des pieces sont
endommagées ou manquantes.

LIRE TOUTES LES INSTRUCTIONS

VEILLER A BIEN CONNAITRE L’ACCESSOIRE. Lire attentivement le manuel
d’utilisation. Apprendre les applications et les limites de ce produit, ainsi que les
risques spécifiques relatifs a son utilisation.

GARDER LE LIEU DE TRAVAIL PROPRE. Un lieu de travail ou un établiencombré
est propice aux accidents. NE PAS laisser d’outils ou de pieces de bois sur la scie
en fonctionnement.

NE PAS UTILISER CE PRODUIT AVEC D’AUTRES OUTILS ou pour d’autres
applications.

S’ASSURER QUETOUS LES DISPOSITIFS REGLAGE SONT CORRECTEMENT
SERRES AVANT D’EFFECTUER UNE COUPE.

TOUJOURS MONTER LA SCIE A ONGLETS de facon & ce que la piéce a
couper se trouve en ligne avec les support de travail.

NE PAS PLACER UNE CHARGE NON EQUILIBREE qui pourrait faire basculer
I’établi a scie a onglets A18MS01/A18MS01G de RYOBI.

CONSERVER CES INSTRUCTIONS. Les consulter frequemment et les utiliser
pourinstruire les autres utilisateurs. Si ce produit est prété, il doit étre accompagné
de ces instructions.

LISTE DE CONTROLE D’EXPEDITION

Voir la figure 1.

S

upports de montage de scie (2), boulon (5/16-18 x 2 po) [4], écrou hexagonal

(5/16 po) [4], rondelle frein (5/16 po) [4], rondelle plate (5/16 po) [4], et manuel d’utilisation.
POUR ATTACHER LA SCIE AUX SUPPORTS DE MONTAGE

Voir les figures 2 et 3.

P

ositionner votre scie sur I'établi a scie a onglets A18MS01/A18MS01G de RYOBI

pour obtenir un équilibre et une stabilité maximum. Tous les quatre coins de la scie
doivent étre boulonnés sur les supports de montage avant I'utilisation. Assurez-vous
que les boulons ne dépassent pas de la table de la scie a onglets.

N

OTE : S’assurer que les supports de montage de la scie sont bien fixés sur I’établi a

scie a onglets A18MS01/A18MS01G de RYOBI avant d’installer la scie. Si les leviers
de verrouillage du support de fixation de la scie ne peut étre facilement poussé vers
le bas en position fermée, la vis de réglage est trop serrée. Ne forcez pas pour placer
les leviers de verrouillage en position fermée. Desserrez la vis de réglage. Consultez
la section Réglage du support de montage de la scie.

S

i la scie comporte des trous qui s’alignent sur les fentes dans les supports de

montage de la scie (voir la figure 2) :

N

OTE : Les trous doivent étre alignés de maniére a ce que les supports de fixation

soient paralléles les uns aux autres a la fin du montage.

S

Débranchez la scie et verrouillez le bras de scie en position abaissée.

Placez deux morceau de montant 2 x 4 ou un objet similaire au-dessous de la
scie pour la soulever afin de pouvoir accéder a ces pieds de montage.

Placez le support de montage de la scie en dessous du cété surélevé de la scie
et insérez les boulons dans les fentes du support et les trous de montage de la
scie.

NOTE : Les supports de montage de la scie devraient étre placés de sorte que
les leviers de verrouillage font face au devant de la scie.

Attachez sans serrer en utilisant une rondelle plate, une rondelle frein et un écrou
hexagonal.

Insérer le deuxiéme boulon dans le support et la scie, puis attachez sans serrer.
Répétez la procédure pour attacher le deuxieme support a la scie.

Aprées s’étre assuré que les deux supports sont paralleles, serrez Iégérement tous
les quatre écrous pour qu’ils tiennent en place.

i les roues de montage de la scie ne s’alignent sur les fentes dans les supports

de montage de la scie (voir la figure 3) :

Débranchez la scie et verrouillez le bras de scie en position abaissée.

Montez la scie sur une surface de montage ayant une épaisseur d’au moins 12,7
mm (1/2 po) en utilisant des boulons, des rondelles et des écrous (non inclus).

Percez des trous dans la surface de montage correspondant aux plaques de
réglage coulissantes dans les supports de montage de la scie.

Continuez I'installation tel que décrit précédemment.

INSTALLATION DE LA SCIE A ONGLETS SUR L’ETABLI A SCIE A
ONGLETS A18MS01/A18MS01G DE RYOBI

Voir les figures 4 et 5.

A AVERTISSEMENT :

Vérifier que les pieds de I’établi sont bien solides avant d’installer la scie a onglets
sur I’établi a scie a onglets A18MS01/A18MS01G de RYOBI. Si cette précaution
n’est pas prise, des blessures ou des dommages a I'outil pourraient en résulter.

S’assurer que les leviers de verrouillage sont deverrouillés.
Soulevez la scie et les supports en les laissant basculer [égérement vers soi.

L’ensemble étant toujours incliné vers vous, accrocher le bride avant des supports
sur le rail avant de I’établi.

A AVERTISSEMENT :

Afin d’éviter de graves blessures, s’assurer que le bord avant courbé des supports
de montage de la scie repose fermement sur le rail avant de I’établi a scie a onglets
A18MS01/A18MS01G de RYOBI avant de placer I'autre extrémité des supports.
Ne pas prendre cette précaution pourrait causer la perte de contrdle de la scie,
entrainant des blessures graves.

Abaissez la scie et le support de maniére a ce que son bride arriere s’engage
completement sur le rail arriere.

Verrouillez les supports en place en abaissant les leviers de verrouillage.
NOTE : Continuez de tenir la scie et les supports avec une main jusqu’a ce que
les deux leviers soient solidement verrouillés.

Vérifier la position et I’'ajuster selon le besoin, pour s’assurer que le poids de la
scie est uniformément réparti sur les rails.

S’assurer que la scie est bien en place et verrouillée en position, puis serrer
fermement les quatre boulons de fixation de la scie sur ses supports de montage.

A AVERTISSEMENT :

Les supports de montage sont congus pour un ajustement serré sur les deux
rails supérieurs quand les leviers de verrouillage sont en position ouvert. Lorsque
les leviers de verrouillage sont abaissés (position verrouillée) il ne devrait pas
étre possible de glisser le support de montage de la scie le long des rails ou
d’enlever le support des rails de la table. Si les supports de montage ne peuvent
pas étre engagés sur les rails ou s’ils peuvent en étre retirés lorsque les leviers
de verrouillage sont abaissés, retirez immédiatement la scie et son support du
table de travail et serrez la vis de réglage. Voyez la section Réglage du support
de montage de la scie. Le non respect de cet avertissement pourrait résulter en
des blessures corporelles graves.

P
|

our retirer la scie de I’établi a scie a onglets A18MS01/A18MS01G de RYOBI :

Levez les leviers de verrouillage pour débloquer les supports de montage de la
scie.

Saisissez les support situées de chaque cété de I'ensemble et soulevez ce dernier
pour le désengager du rail arriere.

L’ensemble étant toujours incliné vers vous, soulevez la partie avant des supports
pour désengager rail avant.

REGLAGE DU SUPPORT DE MONTAGE DE LA SCIE
Voir la figure 6.

S
A

iI’outil etles supports peuvent glisser sur les rails deI’établi a scie a onglets A18MS01/
18MS01G de RYOBI ou étre enlevés des rails quand les leviers sont verrouillés, il

faut serrer les vis de réglage du support. Si la scie ou le support ne peuvent pas étre
engageés sur les deux rails, la vis de réglage de support doit étre desserrée.

NOTE : Avant d’essayer de serrer ou de desserrer les vis de réglage de support, la
scie devrait étre enlevée des supports de montage.

P
|
|

our ajuster :
S’assurer que le levier de verrouillage est deverrouillée.

Soulever le support hors des rails de I'établi a scie a onglets A18MS01/A18MS01G
de RYOBI.

Utilisez une clé de 10 mm pour desserrer légerement I'écrou.

Tournez la vis avec un tournevis a pointe cruciforme. Tournez dans le sens des
aguilles d’une montre si le support de montage doit étre serré ou dans le sens
contraire si le support doit étre desserré.

Installez le support sur le rail avant et abaissez le support pour que la pince arriére
du support s’engage entierement sur le rail arriére.

NOTE : Les supports de montage sont congus pour un ajustement serré sur les
rails quand les leviers de verrouillage sont en position ouvert.

Verrouillez le support en place en abaissant le levier de verrouillage.

NOTE : Si le levier de verrouillage du support de fixation de la scie ne peut étre
facilement poussé vers le bas en position fermeée, la vis de réglage est trop serrée.
Ne forcez pas pour placer le levier de verrouillage en position fermée. Desserrez
la vis de réglage.

Quand vous avez trouvé la bonne position, utiliser un tournevis a pointe cruciforme
pour tenir le vis en place et serrez I’écrou avec une clé.

Répétez avec le deuxieme support de montage.

Afin de vous procurer des assemblages supplémentaires de support de fixation
pour scie (piece n° 089041017702), appelez le service a la clientele RYOBI au
1-800-525-2579.

ONE WORLD TECHNOLOGIES, INC.
1428 Pearman Dairy Road, Anderson, SC 29625
1-800-525-2579 / www.ryobitools.com

REGISTRE SUS HERRAMIENTAS
http: i .ryobi com
< 1-800-525-2579

APOYOS DE MONTAJE DE AFLOJE
RAPIDO PARA LA SIERRA

A18MSB1

Para utiliza solo con el A18MS01/A18MS01G
pedestal para sierras ingleteadoras de RYOBI.

A ADVERTENCIA:

Para reducir el riesgo de lesiones, no intente usar este producto hasta haber
leido y comprendido completamente este manual del operador, el manual del
operador de la sierra ingleteadora y el manual del operador del pedestal de sierra
ingleteadora RYOBI A18MS01/A18MS01G. Asegurese de que la compatibilidad
y el ajuste sean correctos antes de usar este accesorio. No use este accesorio si
esta dafiado o si falta alguna pieza.

LEA TODAS LAS INSTRUCCIONES

FAMILIARICESE CON EL ACCESORIO. Lea cuidadosamente el manual del
operador. Aprenda los usos y limitaciones del producto, asi como los posibles
peligros especificos relacionados con el uso del mismo.

MANTENGA LIMPIA EL AREA DE TRABAJO. Las areas y mesas de trabajo mal
despejadas son causas comunes de accidentes. NO deje herramientas o madera
en la sierra mientras esté utilizandola.

NO USE ESTE PRODUCTO CON NINGUN OTRO EQUIPO ni para otros propdsitos.

ANTES DE EFECTUAR UN CORTE ASEGURESE DE QUE ESTEN BIEN
ASEGURADOS TODOS LOS DISPOSITIVOS DE AJUSTE.

SIEMPRE MONTE LA SIERRA INGLETEADORA de manera que la pieza de trabajo
quede colocada en linea con los conjuntos de los soporte de la pieza de trabajo.
NO APLIQUE UNA CARGA NO EQUILIBRADA que pueda hacer que el
pedestal de sierra ingleteadora RYOBI A18MS01/A18MS01G se caiga.
GUARDE ESTAS INSTRUCCIONES. Consultelas frecuentementey utilicelas para
instruir a otros usuarios. Si presta a alguien esta herramienta, también facilitele
las instrucciones.

LISTA DE EMPAQUETADO

Vea la figura 1.

A

poyo de montaje de afloje (2), perno (5/16-18 x 2 pulg.) [4], tuerca hexagonal (5/16

pulg.) [4], arandela de fijacion (5/16 pulg.) [4], arandela plana (5/16 pulg.) [4], y manual
del operador.

MONTAJE DE LA SIERRA INGLETEADORA A LA SOPORTE DE

MONTAJE

Vea las figuras 2 y 3.

Coloque la sierra en el pedestal de sierra ingleteadora RYOBI A18MS01/A18MS01G
para lograr equilibrio y estabilidad maximos. Las cuatro esquinas de la sierra deben
estar atornilladas a los apoyos de montaje antes de usar la unidad. Asegurese de
que los pernos no sobresalgan arriba de la mesa de la sierra ingleteadora.

N

OTA: Asegurese de que los soportes de montaje de la sierra puedan sujetarse de

modo seguro en el pedestal de sierra ingleteadora RYOBI A18MS01/A18MS01G antes
de montar la sierra. Si la palanca de fijacion del apoyo de montaje de la sierra no se
puede empujar facilmente hacia abajo, a la posicion de cierre, el tornillo de ajuste esta
demasiado apretado. No fuerce la palanca de fijacion hasta la posicion de cierre. Afloje

el
S

tornillo de ajuste. Vea la seccion ajuste de los apoyos de montaje de la sierra.
i la sierra tiene agujeros de montaje que se alinean con las ranuras de los

apoyos de montaje (vea la figura 2):

N

si

S

OTA: Se deben alinear los orificios para que los soportes queden paralelos entre
al montarlos.
Desconecte la sierra del suministro de corriente y asegure el brazo de la sierra en
la posicién baja.
Coloque una tabla de 50,8 x 101,6 mm (2 x 4 pulg.), o un tipo similar de soporte
estable bajo la sierra para subirla y asi poder tener acceso a los pies de montaje
de la sierra.
Coloque el soporte de montaje de la sierra por debajo del lado elevado de la sierra
e introduzca los pernos a través de las ranuras del soporte y de los agujeros de
montaje de la sierra.
NOTA: Los soportes de montaje de la sierra deben colocarse de manera tal que
las palancas de fijacion apunten al frente de la sierra.
Ajustelos en su lugar sin apretar con una arandela plana, una arandela de seguri-
dad y una tuerca hexagonal.
Inserte un perno a través del soporte y la sierra, luego ajustelos en su lugar sin
apretar
Repita el procedimiento para sujetar el segundo apoyo a la sierra.
Después de asegurarse de que ambos apoyos queden paralelos entre si, apriete
suavemente las cuatro tuercas para mantener todo el conjunto en su lugar.
i la sierra tiene agujeros que no se alinean con las placas de ajuste deslizantes

de los apoyos de montaje de la sierra (vea la figura 3):

Desconecte la sierra del suministro de corriente y asegure el brazo de la sierra en
la posicidén baja.

Monte la sierra en una superficie de montaje de como minimo 12,7 mm (1/2 pulg.)
de espesor con pernos, arandelas y tuercas (no incluido).

Perfore agujeros en la superficie de montaje que coincidan con las placas de
ajuste deslizantes de los apoyos de montaje de la sierra.

Proceda con la instalacién como se explicé anteriormente.

COMO MONTAR LA SIERRA INGLETEADORA EN EL PEDESTAL

DE SIERRA INGLETEADORA RYOBI A18MS01/A18MS01G
Vea las figuras 4 y 5.

A ADVERTENCIA:

No monte la sierra ingleteadora en el pedestal de sierra ingleteadora RYOBI
A18MS01/A18MS01G antes de asegurarse de que las patas del pedestal estén
seguras. La inobservancia de esta advertencia puede causar lesiones corporales
y dafos a la herramienta.

Asegurese de palanca de fijacion esté en la posicion asegurada.

Levante el conjunto de la sierra y los apoyos, permitiendo que se incline levemente
hacia usted.

Con el conjunto de la sierra inclinado hacia usted, enganche el borde delantero
del conjunto de soportes en el riel delantero del pedestal.

A ADVERTENCIA:

Para evitar lesiones personales graves, asegurese de que el borde delantero curvo
de los soportes de montaje de la sierra estén colocados de forma segura en el
riel delantero del pedestal de sierra ingleteadora RYOBI A18MS01/A18MS01G
antes de colocar el otro extremo de los soportes. Si no lo hace asi, podria perder
el control del conjunto de la sierra y los apoyos, con lo cual podrian causarse
lesiones serias.

Baje el conjunto de la sierra y los apoyos para permitir que la mordaza trasera de
los apoyos se asiente completamente en el borde trasero de la riel delantero.
Asegure los apoyos en su lugar; para ello, baje las palancas de fijacion.

NOTA: Continle sujetando el conjunto de la sierra y los apoyos con una mano
hasta que estén firmemente aseguradas ambas palancas.

Revise la colocacion y ajustela si es necesario, para asegurarse de que el peso
de la sierra esté equilibrado uniformemente en los rieles.

Asegurese de que la sierra esté bien asentada y asegurada en su lugar, y después
apriete firmemente las cuatro tuercas encargadas de fijar la sierra en los apoyos
de montaje.

A ADVERTENCIA:

Los apoyos de montaje para la sierra estan disefiados para quedar ajustados sobre
los rieles, con las palancas de fijacion en la posicién abierta. Con la palanca de
fijacion en la posicidn baja (aseguramiento), los apoyos de montaje de la sierra
no deberian poder deslizarse por los rieles ni retirarse de los rieles de ésta. Si los
apoyos de montaje de la sierra no quedan en ambos rieles o si pueden retirarse los
apoyos de los rieles con las palancas aseguradas, retire el apoyo inmediatamente
y ajuste el tornillo de ajuste del apoyo. Vea la seccién ajuste de los apoyos de
montaje de la sierra. La inobservancia de esta advertencia puede causar lesiones
corporales serias.

Para quitar la sierra del pedestal de sierra ingleteadora RYOBI A18MS01/

A18MS01G:

B Suba las palancas de fijacion para desasegurar el conjunto de los apoyos de
montaje de la sierra.

B Sujete las placa de cada lado del conjunto y levante éste del riele trasero de la
mesa para separarlos.

B Teniendo el conjunto levemente inclinado hacia usted, levante la parte delantera

del conjunto para separarlo del riele delantero.

AJUSTE DE LOS APOYOS DE MONTAJE DE LA SIERRA
Vea la figura 6.

S

ilaherramientay el conjunto de soportes pueden deslizarse en los rieles del pedestal

de sierra ingleteadora RYOBI A18MS01/A18MS01G o retirarse de ellos al estar
aseguradas las palancas, es necesario apretar los tornillos de ajuste de los apoyos.

S
el

i el conjunto de la sierra 'y los apoyos no queda en ambos rieles, es necesario aflojar
tornillo de ajuste de dichos apoyos.

NOTA: Es necesario retirar de los apoyos de montaje la sierra antes de intentar
apretar o aflojar los tornillos de ajuste de dichos apoyos.

P
|
|

ara ajustar:
Asegurese de palanca de fijacion esté en la posicion asegurada.
Levante éste apoyo de los rieles del pedestal de sierra ingleteadora RYOBI
A18MS01/A18MS01G.
Con una llave de 10 mm de tuercas afloje levemente la tuerca.
Gire el tornillo con un destornillador Phillips. Si los apoyos necesitan apretarse,
gire a la derecha los tornillos; si los apoyos necesitan aflojarse, gire a la izquierda
los tornillos.
Instale el apoyo en el riele delantero y después baje el apoyo para permitir que la
mordaza trasera del apoyo se asiente completamente en el riele trasero.
NOTA: El apoyo de montaje debe quedar ajustado sobre los rieles cuando esté
en la posicién abierta.
Asegure el apoyo en su lugar; para ello, baje la palanca de fijacién.
NOTA: Si la palanca de fijacion del apoyo de montaje de la sierra no se puede
empujar facilmente hacia abajo, a la posicién de cierre, el tornillo de ajuste esta
demasiado apretado. No fuerce la palanca de fijacion hasta la posicion de cierre.
Afloje el tornillo de ajuste.
Cuando logre la posicion correcta, use un destornillador Phillips para asegurar el
tornillo en su lugar y ajuste firmemente la tuerca usando una llave.
Repita el proceso con el otro apoyo de montaje.

Paraadquirir conjuntos de soporte adicionales paralasierra (niUm. pieza 089041017702),
llame al departamento de atencién al consumidor de RYOBI al 1-800-525-2579.

ONE WORLD TECHNOLOGIES, INC.
1428 Pearman Dairy Road, Anderson, SC 29625
1-800-525-2579 / www.ryobitools.com



